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General Instructions :

(i)

(ii)

(iii)

(iv)

(v)
(vi)

(vii)
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There are a total of 26 questions and five sections in the question paper.
All questions are compulsory.

Section A contains questions number 1 to 5, very short-answer type
questions of 1 mark each.

Section B contains questions number 6 to 10, short-answer type I
questions of 2 marks each.

Section C contains questions number 11 to 22, short-answer type II
questions of 3 marks each.

Section D contains question number 23, value based question of 4 marks.

Section E contains questions number 24 to 26, long-answer type questions
of & marks each.

There is no overall choice in the question paper, however, an internal
choice is provided in one question of 2 marks, one question of 3 marks and
all the three questions of § marks. In these questions, an examinee is to
attempt any one of the two given alternatives.

2



www.edugrooss.com

iEDUBRDSS

WISDOMISING KNOWLEDGE

@us A
SECTION A

1. 39 RO % YhR 1 W FqEC FEE ST T F Al o1 7L b WY H
ST 9aq1 @ § "R fed @ | 1

Name the type of cross that would help to find the genotype of a pea plant
bearing violet flowers.

2. 3T 3 Broed 6l Sfaq & 3cufa & g d & 6 @ yronei 1 Iead

HIVT | 1
State two postulates of Oparin and Haldane with reference to origin of
life.

3. T % U Fe H FH-GHAT 3N IcATEshal hl wHl gfeerier Bt 2 | 39 Fwwn
T IR Y % ol Uk HRor 3R U gema i | 1

A herd of cattle is showing reduced fertility and productivity. Provide one
reason and one suggestion to overcome this problem.

4, HF AT B & 298 fg ST ° 9w S § 2 1

What are Cry genes ? In which organism are they present ?

5.  forelt am fooielt w9 0 us feR-dea Seaifu 3 g9 3= diced! 3cad i
Tae} T8 8 | 39k SRV B Tl qTias i qiom fafa | 1
An electrostatic precipitator in a thermal power plant is not able to

generate high voltage of several thousands. Write the ecological
implication because of it.

@UE B
SECTION B
6.  THITSHIY ¥ TP o HHY Ush UforIeqy § GETeRUT 2-<hITSThRT &l Hehdl 8 %l
3-HINA | AT HINT | 2-HIREHE TEEAT T WEHRY & Fed g9

HIfSTRIU fohE JehR SASTEd Bidl @ ? 2

A pollen grain in angiosperm at the time of dehiscence from an anther
could be 2-celled or 3-celled. Explain. How are the cells placed within the
pollen grain when shed at a 2-celled stage ?

5711 3 7.0
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e fou T sngafie el # ST Famy 2
(a) AGfaY 3R FEC®
(b) HUBTHT 3 RN

Differentiate between the genetic codes given below :
(a) Unambiguous and Universal

(b)  Degenerate and Initiator

8. Tr=fafga # & yee 1 Uh-ush JTHAT TS : 2
(a) fafesha gfcrefierto
(b)  wfdfeeeTo
() Ha9g¥
(d) ERHEHAIAY

Mention one application for each of the following :
(a)  Passive immunization

(b)  Antihistamine

(¢)  Colostrum

(d) Cytokinin-barrier

9. 3 GEASHTGEl o % a3 91 HHRgd 3cA1G1 < AT ScATe § Fgrdl

oG 2
(a) ¥fA

(b) Tafges s

(¢) ufifeef=

d) =R s

571 4



www.edugrooss.com

 EDUGROSS

WISDOMISING KNOWLEDGE

Name the microbes that help production of the following products
commercially :

(a) Statin
(b) Citric acid
(c) Penicillin

(d)  Butyric acid

10. CFCs %I 3911 §¢ & | HMG Siaq &l g Il 9’ ATHi 6l gt sH18T | 2
HAAAT

3 3 fafedl &1 Uh-Ush 3R 4d gU g AT, S foRed AT HeheaH
Titefts 1 geear s | T Hdl @ | 2
List four benefits to human life by eliminating the use of CFCs.

OR

Suggest two practices giving one example of each, that help protect rare
or threatened species.

@us C
SECTION C

11. (a) o 4us § 37 @ is Gar 3EH o & 98 gt 7 31 ® Y &
QIRTRT & gR1 YR 81 Tehdl 8 2 394 I o foIu Tqsdient S |

(b) UH UH SAHET H1 AN SHIEY Fal W Fherargash Gus & I ¢ |

39 Wl ol AR HIC S T Hehi ol 3Teh AT €A dh TgaH

4 fifed 2id 2 | 3
(a) Can a plant flowering in Mumbai be pollinated by pollen grains of

the same species growing in New Delhi ? Provide explanations to
your answer.

(b) Draw the diagram of a pistil where pollination has successfully
occurred. Label the parts involved in reaching the male gametes to
its desired destination.

o7 S P.T:0.
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__.  gmrhifern it JemEifien amal % @ sr-gsfad faer § | 39 SR Fary
a91 gl % s 3Tat Ht Tse e | srafsts faer i 3w vt %1 9w S
fSrereh st 3 gHT o1rd & | 3

Both Haemophilia and Thalassemia are blood related disorders in
humans. Write their causes and the difference between the two. Name
the category of genetic disorder they both come under.

13. (a) #Wa SHM wiEs § ffed Q@ sonfeRi 6 gEft a9 | SasT 6 3%
Top TehR Wed feRar I ot |

(b) YAC’ 1 90 AW ARy IR Ieor@ Hife 5 38 forash forw seamma
foam TR o | 3

(a)  List the two methodologies which were involved in human genome
project. Mention how they were used.

(b)  Expand ‘YAC’ and mention what was it used for.

14.  gFIfIfeaa, grifafeema i fAuretge ame i fafimeand sarsy | 3

Write the characteristics of Ramapithecus, Dryopithecus and Neanderthal
man.

15. HHa 7 95 ¥ HENd A AR HISH o HaA o HRU AEAT § had aral T,

3GehT U e, AV (I3 1) T 35h dFed 1 9TH §qTsT | 3
HAAAT
(a)  SAMHHTAH] ol 3H o1 1 S FA1 @Al & [ hal 39k TR MG s=l
1 T3 Terdi/Afet 6 a7 U A 2
(b) TR s=ai = T gergi/mfen 6 @@ g I & ded ¥ e’ 3k
‘it (dependence)’ 1 =amET HIfSU | 3
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Name a human disease, its causal organism, symptoms (any three) and

vector, spread by intake of water and food contaminated by human faecal

matter.

(a)

(b)

16. (a)
(b)

(a)

(b)

OR

Why is there a fear amongst the guardians that their adolescent
wards may get trapped in drug/alcohol abuse ?

Explain ‘addiction’ and ‘dependence’ in respect of drug/alcohol
abuse in youth.

Fs fora™ 2791 TH F FHA H HH-Y FifSd AU @A FATEdT & 2

ITSd AT ITAT AT I H IS T4 dehAteh] J Iail WRd < Thami
&1 Tohe TR Hee <hl ?

Write the desirable characters a farmer looks for in his sugarcane
Crop.

How did plant breeding techniques help north Indian farmers to
develop cane with desired characters ?

17. qifzd A o T IUaR &1 Sfaw Iuar Ht #ad 3 | 39 oA 6 g Hifsg
AT GishAT i ST HIFIT |

Secondary treatment of the sewage is also called Biological treatment.

Justify this statement and explain the process.

18. (a)

(b)
(a)

(b)

571

IS DNA a9H H ‘facimmsedl ~feasiierss o Ha’ & ugd i
STET 61T |

39 ufshan § ufaeien Tggfaerist 1 S9N SIaqTsT |

Explain the significance of ‘palindromic nucleotide sequence’ in
the formation of recombinant DNA.

Write the use of restriction endonuclease in the above process.

7 P.T.O.
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20.

21.

22.

23.

57/1

PCR YT H A, YBAU 3R SGT] 94F TFdicewd i HIsll &1 auH
Fifre |

Describe the roles of heat, primers and the bacterium Thermus aquaticus
in the process of PCR.

A 3G o Icared H Ffga fafvm =won i saren Hif |

Explain the various steps involved in the production of artificial insulin.

(a) ‘Sfra g&dt 81 ghd & 319al fFame |7 59 $uq I Al hifau qur
Jeh 1 Ueh-Ueh 3T GITaT |

(b)  Sroft Storq A frament <t stden Gt a1t B 8 2

(a) “Organisms may be conformers or regulators.” Explain this
statement and give one example of each.

(b) Why are there more conformers than regulators in the animal
world ?

3CUTEehal, TFehel TTATHe IcATgehdl 3T Y@ IcdIgehal o sig IREIR T I
quiq hifsr |

Describe the inter-relationship between productivity, gross primary
productivity and net productivity.

@uE D
SECTION D
HTHAR T I8 <@l SATdl 8 fob SAfTehdr 3N S99 & a1 # grar-fuar s1aa fepsm

A1 o TY GARL 91 B H IATH HEHH DA & | HIAT-UaT I 37 IATH B
gy 97 g1 2 foh o= fl-efl wesh 91d & |

(a) 3Tl T H 39 fasi & R | 3794 dgd d=i o 1Y G == 7 B
% fI® $© AIAI-UYAIS hl IASHI 1 1 HRU & ? ATEAT HIQ |

(b) U TAMR N R Th Sid 1 IS & §Y, 39 37 W13 hl S+
HI AR & &1 H 34 IAgHI § YR IH H {8 YepR HEET il ?
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It is commonly observed that parents feel embarrassed to discuss freely
with their adolescent children about sexuality and reproduction. The
result of this parental inhibition is that the children go astray sometimes.

(a)  Explain the reasons that you feel are behind such embarrassment
amongst some parents to freely discuss such issues with their
growing children.

(b) By taking one example of a local plant and animal, how would you
help these parents to overcome such inhibitions about reproduction
and sexuality ?

wQvus E
SECTION E

24. (a) AN % Th IS Bl F& =S G R, 99 TH YU b TUH W 3R YO
@ 91 & | aussy, foh I8 fohd yehR wva 7 |

(b) T A YU AHANTh FY H THH B & 1@ i 2 ==t i | 3+2=5
Jrore
(a) U AFd Tff o 3da = ! mfeiRaa graeenet s e $ifvu
(i) ATdd qreeen
(i) Yehd T
(iii) diafus (SFfesta) wraee
(b) 3a =k H TE-HE TSR TRER FESE 6 TcfUe dEEar

Gehdl 8 | AT 379 39 HYT & TEAd & 2 94 S & 0 HRI
g | 4+1=5

(a) When a seed of an orange is squeezed, many embryos, instead of
one are observed. Explain how it is possible.

(b)  Are these embryos genetically similar or different ? Comment.

OR

57N 9 B [.O.
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(a) Explain the following phases in the menstrual cycle of a human
female :

(1) Menstrual phase
(ii)  Follicular phase
(iii) Luteal phase

(b) A proper understanding of menstrual cycle can help immensely in
family planning. Do you agree with the statement ? Provide
reasons for your answer.

25. (a) forelt winfisr <t wufse gfg & J-emR St S-3hR wisell i HRv

FdTd Y AT HIT |
(b) S grT raTg ME “wdfisfia <t amar” it e i | 3+2=5
Sreran
(a) uifeufasher fifire < gmar @ 2 oo, S9-ggfd i gen & fRfie 6
dor $IfT |
(b) uriieufashr fRfret i =iE & #iad samsy | 4+1=5

(a) Compare, giving reasons, the J-shaped and S-shaped models of
population growth of a species.

(b)  Explain “fitness of a species” as mentioned by Darwin.
OR

(a) What is an ecological pyramid ? Compare the pyramids of energy,
biomass and numbers.

(b)  Write any two limitations of ecological pyramids.

26. (a) t-RNA 310 i GGHT R I8 HE 1 JUA T | 39 Teh TIHal
310] T haEd 8 2
(b)  Hehgeh! HIRTERI H hn-RNA FHEYA i AishaT hi AT hifoT | 3+2=5

HACT

g Fios H HH-3ua & fafay "o o sdEu | sEehl ‘ofiud’ Ireedr |
At 6 s i | 5
571 10
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(a)  Describe the structure and function of a t-RNA molecule. Why is it
referred to as an adapter molecule ?

(b)  Explain the process of splicing of hn-RNA in a eukaryotic cell.
OR

Write the different components of a lac-operon in E. coli. Explain its

expression while in an ‘open’ state.
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